1. 203 & Atk v= 5 7 "ele A 54127

@ (a+b)(a-b)=a®-b?
@(a+b)2=a2+2ab+b2

® m(a+ b) = ma+ mb

@ (ax+b)(cx +d) = acx® + (ad + be)x + bd

® (a+b)(c+d)=ac+bc+ad+bd

2032 = (200 + 3)% ©]E& q = 200, b = 3 ©]2}1l 5}
(a+b)* = a® + 2ab + b* & ©]-&5Hd Hrt.




D 2012 = (a-b)?

@ 499° = (a+b)?

® 9972 = (a+b)(a—b)

@ 103x97 = (ax+b)(cx+d)
@104x105 = (x+a)(x+b)

B

@ 2012 = (200 + 1)2 = (a + b)?

@ 4992 = (500 — 1)2 = (a — b)?

® 9972 = (1000 — 3)2 = (a — b)?

@ 103 x 97 = (100 + 3)(100 — 3) = (a + b)(a — b)




3. x+y=4, xy=-2Y 0, x2 +y? 9] F2?

® 5 @ 10 ® 15 @20 ® 25

2 +y?=(x+y)?-2xy
=42 -2x(-2)
=16+4=20




4. a-b=-2,ab=4 LW, o+ b? 9] Ft2?

O 8 @12 ® -4 @ -7 ® -15

a>+b*=(a-b)?+2ab=(-2)>+2x4=12




x+y=>5, x2 +y?
,x24y? =13 & o, xy 9 F2?

B

® 12

(x+y)2 = x% + 2xy +y?
25 — 13 + 2xy

2y = 12

Soxy==6
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20112 - 2012 x 2010

o
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20112 — (2011 + 1)(2011 - 1)
= 20112 - 20112 + 1
=1
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[e) S 13
43212 — 4320 x 4322 o gks Fotef=.

> E

> =t 1234

B
1234

43212 — (4321 — 1)(4321 + 1)
B 1234

43212 - 43212 4+ 1

= 1234




2-2c=12 0, 24 L o] 3e Fololal,

X
[
=

>
[> =

oH =

&8




9.

Zol7l Ale] (4-2) & BoHH

(4-2)(4+2)(4% +22)(4* + 2%) (48 + 28) — 2 x (23! + 215)
:(42_22)(42+22)(44+24)(48_|_28)_232_|_216

= (4% —2%)(4* + 2%)(4® + 28) — 232 4 216

_ (48 _ 28)(48 + 28) — 932 4 916

— 416 _ 916 _ 932 | 916

— 932 _ 916 _ 932 | 916

=0

022 2 Yok 0 o|m2 Fof7 Al 7heks] 5hel 0 o]t




10.

b _
@+ 94 =10, a2—a2—b+b2 — 89 U], (a=b)? o S Fotole},

2ab _
O

), ab
a® + 5
a2—%+b2=8--~©
O+0 <73

2a° + 2b% = 18
aZ+b2=9
O-0O<=3H

w (a-

+82=10--- O

2, ab =2

b)2=a*>-2ab+b*=9-4=5




